W vt BT 6 0% A 1 0 19] R A9

&

BT
AR KXFARBRKEFHE PO
bR KFEFRIE S IJFR PO




2% Ak

> AL B & 4 K& / EAL A
EAL 7 A2 Xn+1 = F(xXn) + Wpyq ——
AL 75 A2 Yn+1 = H (ng1) + Npg e R
.
[ R AL RAE A

- AIE X ~ po(x) = N (x;myg, Co)
- BRAE G wj ~ N(x;0,2Z,)
- ML e nj ~ N(x;0,Zy)
- JhR A PEAR IR xo L wj Xo L1 w; L ng



S -

R 7] AL

X = {xO'xll °"1xN}

Y ={yo,y1, " Yn}
Y =6(X) +n7 n~Nx0Z,&1I)
GX):=[H(x1); H (xp) - H (xp)]

pX|Y)



> PR (AR NETRA)

5'@5/:}57\;&" pprior(X) — ,D(XN, XN-1,""") xO)
= plxylxn-1) p(xy—1,*, X0)
= p(xo) Hg;(% p(Xni1|xn)

x e RX)

1
RO =351 Gy (0 —mo) u2+%2 1522 Gt — F o)) I



> PR (AR NETRA)

MR & E: p(YX) = pYnYn—1,5 Y1 | XNy Xn—1, 5 X0)

= ngl P()’j | XN XN -1 “’;xo)
o - PXY)

DX, V) =%Z 1572 (s — HCons) 12

= T ppost(X; Y) = p(X]Y) x e~ PrRIXY)
dp(X,Y) =d(X,Y) + R(X)



‘/‘/U ‘/‘& ]“;] 7“9@

> ek A (& LX)

i Zn + 1469 I & Yne1 = o Y1 Ynaa}

B Zin 4+ 189 38K 0 P(Xnt1|Yn+1)
Yn+2‘




‘/‘10 ‘/‘}i ]“;] 7“9@

> ek A (& LX)

TR :
Y,)dx,
X ,Yn)p(xnl n
Y, ) — ,D(Xn+1| n
p(xpt1|Yn f
— jp(xn+1|xn)pn(xnlyn)dxn

k _% - T(xn)) ”2) Pn (x| V) dxy,
chexp(z Iz, (Xn+1

N\

T p(xn+1|Yn)




‘/‘JU ‘/‘ﬁi ]“;] 7“9@

> ek A (& LX)

2T
P (Xni1lYnt1) = pCons1 Yo, yns1)
P(yn+1 Yo, Xnt1)p(Xn411¥n)
pP(Yn+1/¥n)

_ PVn+1lXn+1)p(Xnt1[Yn)
pOn+1l¥n)
1

. -
o< exp(— > | 2,72 i1 — FGEne)) 12) p(xnyl V)
Yn+1

\ -

T p(xn+1|Yn)



1 Y B o o D

Dot Hy 77 Ppost(X; Yn) = p(X|Yy)
W ot 7 9% I : p(xn|Yn)
[
p(xn|Yy) =J p(xn, Xn—1, ", X0l Yn)dxodxy - dxpy_q

p(xn|Yy) #

.

J

p(xXn, X1, Xo|Ya)dxg -+ dxp_q dxpyq - dxy



> MBI E PR FHEA

- el %" % @
& %=k

fR g e —
- FRE LR ML B T A A S S

BT
> Dot 7 R e T R AL
- 7 6 B AR
_ /\ﬁj‘ éﬁ \?ﬁ—f—;li

- /\ﬁj‘ 5 4 i{bHX/}Lf‘ Y }[ T pn; Pw» ppI‘IOI'

10



xF T W et B R 18] AR
y=6G00)+n N~Py 0~ Pprior

L
L(B) = py(y —G(8))  Ls(8) = py(y — G5(6))
Bk A FeKy, Ky > 0,6 > 0, 142 %6 € (0,67)

) |VI@® — VLs@)| < 0(0)8, Egop,... [0(6)?] < K7
1)) sgp( L(O) + L5(9)) <K,
2500 >0,c> 0> FI0iH L

Dy (ppost(HIQS) :Ppost(gig)) <cd Voe(0A4)

11



stF Nt Br-FE M > Y =Yy 0 Bk
)Yl Y]l <R <o

i) 906) = [SNAIHGIE > Ex-pypc0lp (02 < o
MRABAEC>0> BIntiEk L

Dy (ppost(X; Y) ;Ppost(X; Y,)) <clly =Y

12



*E T R eT A R > BN > Bk
) ¥z, Il < R < o0

i) 900 = (SN IHEIE  Bxpyi00lp ()] < o
LB C >0 Tk HTiHE
Dry(onCens Ya) , onGens YY) < cllYy — Yyllo

13



> 45 7]

1
1. EDTV(.DA ,08) < Dupa,pp) < VDrv(pa,ps)

2. EX |fleo = Sl}lcplf(x)l

1
Drv(pa,pp) = E|fs|u21 |IEPAf(x) - IEPBf(x)l

14



